
BUICK





BUICK

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com



BUICK

CENTURY 1997-2005

BU-12101
Tie Rod End

Front

89047697

ENCLAVE 1st Gen 2008-2015

CH-19911
Lateral Arm

Rear Upper

15148024

CH-19917
Lateral Arm

Rear Lower

23461856

CH-13913
Axial Joint

Front

20817752

CH-12912
Tie Rod End

Front

15869897

CH-11915
Ball Joint

Front

19207521

CH-14910
Stabilizer Link

Front

20905104

CH-14916
Stabilizer Link

Rear

15129234

CH-914
Lateral Arm Bushing

Rear

C2D4013

BU-20985
Control Arm Bushing

Rear Lower

23461856

BU-20986
Control Arm Bushing

Rear Upper

15148024

ENCLAVE 2nd Gen 2018 after

CH-121001
Tie Rod End

Front Right Outer

23214216

CH-121002
Tie Rod End

Front Left Outer

23214215

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



BUICK

ENCORE 2012-2016

OP-12431
Tie Rod End

Front
ElektiricalType  M14x1,5

95932779

OP-12432
Tie Rod End

Front
HidrolikType.  M14x1.5

1609206

CH-11254
Ball Joint

Front Lower

95916024

CH-13253
Axial Joint

Front
witheps

95952929

OP-14435
Stabilizer Link

Front Right

95942520

OP-14435A
Stabilizer Link

Front Right

95942520

OP-14436
Stabilizer Link

Front Left

95942519

OP-14436A
Stabilizer Link

Front Left

350231

BU-20972
Control Arm Bushing

Front Inner

95025705

BU-20973
Control Arm Bushing

Front Outer

95025705

LACROSSE 2nd Gen 2010-2016

BU-20961
Control Arm Bushing

Front

22854828

BU-13153
Axial Joint

Front
withoutperformancepackage

13271998

CH-13333
Axial Joint

Front

1609181

CH-12171
Tie Rod End

Front
withoutperformancepkg

22776539

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



BUICK

LACROSSE 2nd Gen 2010-2016

OP-12541
Tie Rod End

Front Right
withperformancepkg

13272002

OP-12542
Tie Rod End

Front Left
withperformancepkg

13272001

BU-11155
Ball Joint

Front Upper

13258056

CH-16338
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

22854826

CH-16339
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

22854825

OP-14517
Stabilizer Link

Front

C13219141

OP-14510
Stabilizer Link

Front

13282833

OP-14515
Stabilizer Link

Rear

444087

LESABRE 4th-5th-6th Gen 1971-1990

BU-14160
Stabilizer Link

Rear

25940977

BU-14190
Stabilizer Link

Front

15571395

LESABRE 7th Gen 1992-1999

BU-14170
Stabilizer Link

Front

25715934

CD-130
Stabilizer Link

Front

10164176

LESABRE 8th Gen 2000-2005

CD-130
Stabilizer Link

Front

10164176
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



BUICK

LESABRE 8th Gen 2000-2005

BU-14170
Stabilizer Link

Front

25715934

CH-13653
Axial Joint

Front

15221006

CH-11604
Ball Joint

Front Lower

C96852964

BU-12161
Tie Rod End

Front

89047749

BU-16168
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

25699467

BU-16169
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

25699468

BU-16168N
Suspension Control Arm

Front Left Lower

25699467

BU-16169N
Suspension Control Arm

Front Right Lower

25699468

PARK AVENUE 2nd Gen 1997-2005

BU-16169N
Suspension Control Arm

Front Right Lower

25699468

BU-16168N
Suspension Control Arm

Front Left Lower

25699467

BU-16169
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

25699468

BU-16168
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

25699467

BU-12161
Tie Rod End

Front

89047749

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



BUICK

RAINIER 1st Gen 2003-2007

CH-13183
Axial Joint

Front Inner

26100288

CH-12181
Tie Rod End

Front Right Outer

4011887

CH-12182
Tie Rod End

Front Left Outer

4011886

CH-11184
Ball Joint

Front Lower
4X4

8191336700

CH-16198
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
2004-2007

19133556

CH-16908
Suspension Control Arm

Front Right

25786775

CH-16909
Suspension Control Arm

Front Left

25786774

CH-16199
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
2004-2007

19133555

CH-14186A
Stabilizer Link

Front Right
steeltype

15918822

CH-14187A
Stabilizer Link

Front Left
steeltype

15918823

CH-14188A
Stabilizer Link

Rear Left
steeltype

88982342

CH-14189A
Stabilizer Link

Rear Right
steeltype

88982343

REGAL 3rd Gen 1988-1996

CH-14940
Stabilizer Link

Rear

10259660

CH-11935
Ball Joint

Front Lower

17989117

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 8 info@parsrot.com



BUICK

REGAL 4th Gen 1997-2004

CH-11935
Ball Joint

Front Lower

17989117

CH-11604
Ball Joint

Front Lower

C96852964

BU-12101
Tie Rod End

Front

89047697

REGAL 5th Gen 2011-2016

OP-14517
Stabilizer Link

Front

C13219141

CH-16339
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

22854825

CH-16338
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

22854826

BU-11155
Ball Joint

Front Upper

13258056

CH-12171
Tie Rod End

Front
withoutperformancepkg

22776539

CH-13336
Axial Joint

Front
2.4&2.5L.With19wheels.

1609183

OP-14516
Stabilizer Link

Front

350618

CD-14150
Stabilizer Link

Rear

22810912

BU-20961
Control Arm Bushing

Front

22854828

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com



BUICK

RENDEZVOUS 2002-2007

BU-16188
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

10318098

BU-16189
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

10318097

BU-16188N
Suspension Control Arm

Front Right Lower

10318098

BU-16189N
Suspension Control Arm

Front Left Lower

10318097

CH-12341
Tie Rod End

Front Outer

89047756

CH-11604
Ball Joint

Front Lower

C96852964

CH-13653
Axial Joint

Front

15221006

VERANO 2012-2016

OP-14517
Stabilizer Link

Front

C13219141

OP-13483
Axial Joint

Front
Type:POCNJ1  M16X1,5-L=291mm

1609027

OP-13484
Axial Joint

Front
Type:POCNJ0  M16X1,5-L=288mm

1609029

OP-12511
Tie Rod End

Front

13286686

CH-16148
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

C13272606

CH-16149
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

C13272605

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



BUICK

VERANO 2012-2016

OP-16488
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

13334023

OP-16489
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

352106

BU-20205
Control Arm Bushing

Center

352866

BU-20250
Control Arm Bushing

Front Outer

352491

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com




